_1_
am 7 AR 1 H i 4 @L

E )fé% E&

ot 4 A R = ML B YN - P "

HTH B Z Rt H B R E = it s i
# # #

EREB AL T ZE 4 B L (X A BR<) & A AL EE 2 Z st (A 22K0) £ 0 2

i & WL P REIED

T H B BB # 1T L0HE S D A B X0 = B A INE UL 550,
E T (T AUNEEME  10kgX47-0  BEAREK)
A - i AAE T R
=y B 62.51 LI ( ES-EE 60 (82T WAE-EE 40 A )

2R H 55 [A]« AT 2R HL AR 3B A
4R HL 5 [B]-D>Fr AN ELRTBR 5 &

i 4T B M T H SO BB #C LR ST D AT — L ay O 8 B AE LLE 58 0,




a T 75 W 1 o
w4 om
= i & %
S
i 4T i 4T EFE OBFA
£ ®
ok = A %% A 52T AFI84E3A31H
Z & B W iR E
7 H T & m I | B % & B & M i
AZTR
EHEH [a] -
= T A T 2 hoE[ElY PP 55 1 W%
IE]:
= A T 4 BRI AT 5 2 Hiffiz
BERNIE &
NS YN 2 b ERA /1 35 5 BE
BEHI G5 &
RN 4 PUHHRA /1 5 6 W%
il il




T & Fii il #m 1l HANL & B Al 4 il
EEEERE B
RETRR 25% LI
10kg Hifh
&t
R EH R (Bl ) 10kg 6,250
HE B Y40 = 1
&t
Y IR 10kg 6,250

%,%%‘I‘if%l’ \BEE%’E(TZ%;




% T 2h M ZAAE T G R A2 15.3km)

1 H/F\ 2720 B &
4 B JEAR ~F ¥, B HAfT M B B & it
T AN B oNH R 1.51 % 35 HfiE
INEEVESE EmiEER H 0.18
/N SR TERRIERE L=14m = 1.0




gt 2 BE 4N BT AN TE I GE R EREE 3 18.4km) 1 &

& /18] 2720 B &
4 b Bk < i, B HAAT ¥ B B & T
T AN B 4Ry H R 3.00 %4 5 HlE
INEEVESE EmiEER H 0.38




gt 3 B AN R LT 1 MERE YE-VEME o yh—H4Am3 AR —6—
4 g IR SF i, B HAAL M B B Al & it
—fE R T A 0.15
i 3 3.8
FEAAE R hr 1.0
AR A 1.0
fif] (L il




g 4 BE AR HLHHR 1 B Bl HALR Sy —H8m3AHME
24 s R SHE, Bk AL H & B i & M
— IS T A 0.25
L3li 3 6.0
PR AR hr 1.0
AR A 1.0




% 5 2N BT B N (BEEVL 5 85 ) i MR G EREES . 4km) 1 /R - HEALR —8—
4 b Bk < i, B HAAT ¥ B B T
T AN B oNH R 0.80 % 35 HiE
P AIAPEZE N IR FEIRIA I THRE m3 2
TR TR EmiEER A 0.08
fif] L i




gt 6 AN BT AR (D 3T THLy 55 ) Sl GER RS 411 R /18] W70 Bl 5=

4 b Bk < i, B HAAT ¥ B B & T
T AN B 4Ry HE R 0.40 %4 5 HlE
P AIAPEZE N IR FEIRIA I THRE m3 4
TR TR EmiEER A 0.17




